

$$y'(x) = 4x \sqrt{y(x)}$$

$$y(4) = 1$$

$$\frac{dy}{dx} = 4x (y(x))^{\frac{1}{2}}$$

$$\int y^{-\frac{1}{2}} dy = \int 4x dx$$

$$\frac{y^{\frac{1}{2}}}{\frac{1}{2}} = 4 \frac{x^2}{2} + C_1$$

$$2y^{\frac{1}{2}} = 2x^2 + C$$

$$y = \left(x^2 + C \right)^2$$

✓

$$y'(x) = x e^{y(x)}$$

$$\frac{dy}{dx} = x e^y$$

$$\int e^{-y} dy = \int x dx$$

$$-e^{-y} = \frac{x^2}{2} + C_1$$

$$e^{-y} = -\frac{x^2}{2} + C_2$$

$$-y = \ln\left(-\frac{x^2}{2} + C_2\right)$$

$$y = -\ln\left(-\frac{x^2}{2} + C_2\right)$$

$$y'(x) = y(x)$$

$$\frac{dy}{dx} = y(x)$$

$$dy = y(x) dx$$

$$\int \frac{1}{y} dy = \int 1 dx$$

$$\ln y = x + c_1$$

$$y = e^x \cdot c$$

$$y'(x) = x y(x)$$

$$\frac{dy}{dx} = x y(x)$$

$$\int \frac{1}{y} dy = \int x dx$$

$$\ln y = \frac{x^2}{2} + c_1$$

$$y = e^{\frac{x^2}{2} + c_1}$$

$$y = e^{\frac{x^2}{2}} \cdot c$$

$$① \quad y'(x) + y(x) = 4 \cdot e^x$$

$$y'(x) + y(x) = 0$$

$$\frac{dy}{dx} = -y$$

$$\int \frac{1}{y} dy = -\int 1 dx$$

$$\ln y = -x + C_1$$

$$y_R = c \cdot e^{-x} \quad \text{a homogén
egyenlet
megoldása}$$

$$\begin{aligned} y_0 &= c(x) \cdot e^{-x} \\ y' &= c'(x) \cdot e^{-x} - c(x) \cdot e^{-x} \\ \text{vizsgálgandó:} \\ c'(x) \cdot e^{-x} - c(x) \cdot e^{-x} + c(x) \cdot e^{-x} &= 4 \cdot e^x \end{aligned}$$

$$c'(x) \cdot e^{-x} = 4 \cdot e^x$$

$$c'(x) = 4 \cdot e^x \cdot e^x$$

$$c'(x) = 4 \cdot e^{2x}$$

$$c(x) = 4 \cdot \frac{1}{2} \cdot e^{2x} = 2 \cdot e^{2x}$$

$$y_0 = 2e^{2x} \cdot e^{-x} = 2e^x$$

$$\boxed{y = y_R + y_0 = c \cdot e^{-x} + 2 \cdot e^x}$$

$$② \quad y'(x) = x \cdot \sqrt[5]{y(x)}$$

$$y'(x) = x \cdot (y(x))^{\frac{1}{5}}$$

$$\frac{dy}{dx} = x \cdot y^{\frac{1}{5}}$$

$$\int y^{-\frac{1}{5}} dy = \int x \cdot dx$$

$$\frac{y^{-\frac{1}{5}+1}}{-\frac{1}{5}+1} = \frac{x^2}{2} + C_1$$

$$\frac{y^{\frac{4}{5}}}{\frac{4}{5}} = \frac{x^2}{2} + C_1$$

$$y^{\frac{4}{5}} = \frac{4}{5} \cdot \frac{x^2}{2} + C$$

$$\boxed{y = \left(\frac{2x^2}{5} + C \right)^{\frac{5}{4}}}$$

Az elv minden
 esetben jól lehet
 alkalmazni!
 Szia!

$$u'(x) = \frac{1}{x} u(x) + u(x)^2$$

$$u'(x) - \frac{1}{x} u(x) = u(x)^2$$

$$z'(x) + (-1)\left(-\frac{1}{x}\right) \cdot z(x) = 1 \cdot (-1)$$

$$z'(x) + \frac{1}{x} \cdot z(x) = -1 \quad \text{Es eine inhomogene lin. Dgl.}$$

$$z'(x) + \frac{1}{x} z(x) = 0$$

$$z'(x) = -\frac{1}{x} z(x)$$

$$\frac{dz}{z} = -\frac{1}{x} \cdot z(x)$$

$$\int \frac{1}{z} dz = - \int \frac{1}{x} dx$$

$$\ln z = -\ln x + C_1$$

$$z_R = C \cdot e^{-\ln x} = C \cdot (e^{\ln x})^{-1} = C \cdot \frac{1}{x}$$

$$z_0 = C(x) \cdot \frac{1}{x}$$

$$z_0' = C'(x) \cdot \frac{1}{x} + C(x) \cdot (-1) \cdot x^{-2} = C'(x) \cdot \frac{1}{x} - C(x) \cdot \frac{1}{x^2}$$

$$C'(x) \cdot \frac{1}{x} - C(x) \cdot \frac{1}{x^2} + \frac{1}{x} \cdot C(x) \cdot \frac{1}{x} = -1$$

$$C'(x) \cdot \frac{1}{x} = -1$$

$$C'(x) = -x$$

$$C(x) = -\frac{x^2}{2} \Rightarrow z_0 = -\frac{x^2}{2} \cdot \frac{1}{x} = -\frac{x}{2}$$

$$z = z_R + z_0 = C \cdot \frac{1}{x} - \frac{x}{2}$$

$$\Downarrow$$
$$u = \frac{1}{z} = \frac{1}{\frac{C}{x} - \frac{x}{2}}$$

$$\Downarrow$$
$$y = u + v = \boxed{\frac{1}{\frac{C}{x} - \frac{x}{2}} + \frac{1}{x}}$$

$$y'(x) + f(x) \cdot y(x) = g(x) \cdot y(x)^\alpha$$

$$z(x) = u^{-1} \quad \alpha = 2$$

$$f(x) = -\frac{1}{x}$$

$$g(x) = 1$$

$$z'(x) + (1-\alpha) \cdot f(x) \cdot z(x) = g(x) (1-\alpha)$$

$$① \quad y'(x) + y(x) = 2 \cdot e^x$$

$$y'(x) + y(x) = 0$$

$$\frac{dy}{dx} = -y(x)$$

$$\int \frac{1}{y} dy = - \int 1 dx$$

$$\ln y = -x + c_1$$

$$y_a = c \cdot e^{-x}$$

$$y_0 = c(x) \cdot e^{-x}$$

$$y_0' = c'(x) \cdot e^{-x} - c(x) \cdot e^{-x}$$

$$c'(x) \cdot e^{-x} - \underbrace{c(x) \cdot e^{-x}}_0 + c(x) \cdot e^{-x} = 2 \cdot e^x$$

$$c'(x) \cdot e^{-x} = 2 \cdot e^x$$

$$c'(x) = 2 \cdot e^{2x}$$

$$c(x) = 2 \cdot \frac{1}{2} \cdot e^{2x} = e^{2x}$$

$$y_0 = e^{2x} \cdot e^{-x} = e^x$$

$$\boxed{y = y_a + y_0 = c \cdot e^{-x} + e^x}$$

$$② \quad y'(x) = x \cdot \sqrt[7]{y(x)}$$

$$y'(x) = x \cdot y^{\frac{1}{7}}$$

$$\frac{dy}{dx} = x \cdot y^{\frac{1}{7}}$$

$$\int y^{-\frac{1}{7}} dy = \int x dx$$

$$\frac{y^{-\frac{1}{7}+1}}{-\frac{1}{7}+1} = \frac{x^2}{2} + c_1$$

$$\frac{y^{\frac{6}{7}}}{\frac{6}{7}} = \frac{x^2}{2} + c_1$$

$$y^{\frac{6}{7}} = \frac{6}{7} \cdot \frac{x^2}{2} + c$$

$$y^{\frac{6}{7}} = \frac{3x^2}{7} + c$$

$$\boxed{y = \left(\frac{3x^2}{7} + c \right)^{-\frac{7}{6}}}$$

$$⑤ \quad y'(x) + \frac{1}{x} y(x) + y(x)^2 = \frac{1}{x^2}$$

$$v(x) = \frac{1}{x}$$

$$y = u + v$$

Ansatz $y = u + v$: $y'(x) = f(x) \cdot y(x)^2 + g(x) \cdot y(x) + h(x)$

hilfs variabel $y'(x) = -y(x)^2 - \frac{1}{x} y(x) + \frac{1}{x^2}$

$$\Rightarrow \begin{aligned} f(x) &= 1 \\ g(x) &= -\frac{1}{x} \\ h(x) &= \frac{1}{x^2} \end{aligned}$$

$$u'(x) = (g(x) + 2v(x) \cdot f(x)) u(x) + f(x) \cdot u(x)^2$$

$$u'(x) = \left(-\frac{1}{x} + 2 \cdot \frac{1}{x} \cdot 1 \right) u(x) + 1 \cdot u(x)^2$$

$$u'(x) = \frac{1}{x} u(x) + 1 \cdot u(x)^2 \quad \text{Es Bernoulli}$$